Notice English

BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited)
Administration Department
Koyla Bhawan, Koyla Nagar
Dhanbad – 826 005

Ref: BCCL/Admn/Sr. EE(C)/2011/36 Date: 26.02.2011

QUOTATION NOTICE

Sealed quotation are invited on percentage above / below basis from eligible candidates for the works mentioned below & the same will be received on 08.03.2011 up to 3.30 PM and opened at 4.00 PM on the same day in the office of the undersigned.

Sl.	Name of the work	Estimated	Earnest	Paper Cost	Time of
No.		Cost	Money		Completion
1	The work for PVC Venyle				
	flooring in Statistics Section of				
	Coordination Department and	Rs 49,936.82	Rs 500/-	Rs 100/-	15 days
	repairing of aluminium glazed				
	door shutter at Koyla Bhawan				
2	The work for wooden file				
	cabinet of RTI cell, Central	Rs 42,324.12	Rs 425/-	Rs 100/-	15 days
	Block ,Koyla Bhawan				
3	The work for repairing of				
	damaged CI rain water pipe by				
	providing PVC rain water	Rs 8,293.68	Rs 100/-	Rs 50/-	10 days
	pipe, wire gazed window				
	shutter & cleaning of malba of				
	canteen at Koyla Bhawan				

Eligibility Criteria:

- 1. The intending tenderer must have its name, experience of having successfully completed similar works i.e.:
 - a. Three similar completed works each costing not less than the amount equal to 40% of the estimated cost.
 - b. Two similar completed works costing not less than the amount equal to 50% of the estimated cost.

 Or
 - c. One similar completed work costing not less than the amount equal to 80% of the estimated cost.
- 2. Average annual financial turn over of Civil works during last three years ending 31st March of the previous financial year.

(Contd)	
---------	---	--

- 3. N.B. Similar work means 1) PVC Venyle flooring work 2) wooden work 3) repairing & maintenance of building. B.O.Q. / Tender documents will be issued w.e.f 05.03.2011 to 07.03.2011 from Sr. Manager (Civil) H.Q after paying the cost of paper to Sr. Manager (F) Pay, Koyla Bhawan. Issuance of BOQ does not means that the party is qualified.
- 4. Quotation are to be submitted in single sealed cover containing 1) Earnest Money, 2) Credential relating to eligibility criteria, 3) PAN & TIN documents alongwith current Sales Tax Clearance Certificate.
- 5. No materials will be supplied by the Department
- 6. The rates quoted by the agency will be valid for 120 days from the date of opening of quotations.
- 7. The earnest money shall be deposited either in form of cash or Bank draft. Quotation without earnest money will be rejected.
- 8. Every tenderer is required to give an affidavit in the proforma given in the tender document on non-judicial stamp paper and as well as current Sales Tax clearance certificate.
- 9. The details can be visited on our website http://bccl.cmpdil.co.in

(D.K. Singh) <u>Manager (Civil) Admn</u>

Distribution: -

- 1. All area CGM/s / GM/s for display in notice board.
- 2. GM (system), BCCL, for logging in our website.
- 3. Dy. GM (Admn), Sr. Manager (P) Admn Koyla Bhawan.
- 4. Sr. Manager (F) Pay I/c, Koyla Bhawan
- 5. Sr. Manager Sectt to D(P) / D(F), D(T)P&P, D(T)OP, CVO
- 6. Notice Board.

BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited)
ADMINISTRATION DEPARTMENT
KOYLA BHAWAN, DHANBAD

PART – I

(TO BE SUBMITTED IN SEPARATE ENVELOPE)

1	Name of	21_	
	Juame Oi	· W/Ork	•
т.	T tallic Of	WUIK	•

- 1) The work for PVC Venyle flooring in Statistics Section of Coordination Department and repairing of aluminium glazed door shutter at Koyla Bhawan
- 2) The work for wooden file cabinet of RTI cell, Central Block ,Koyla Bhawan
- 3) The work for repairing of damaged CI rain water pipe by providing PVC rain water pipe, wire gazed window shutter & cleaning of malba of canteen at Koyla Bhawan
- 2. Name of Tenderer :

Address :

Contact No. (Tel / Mob.) :

3. N.I.T. Reference : BCCL/Admn/Sr. EE(C)/2011/36 dt 26.02.2011

4. Date of Receipt of tender : 08.03.2011 from 10 AM to 3.30 P.M.

5. Date of opening of Tender : 08.03.2011 At <u>4.00</u> P.M.

6. Details of E.M.D. : No. Date

7. Money Receipt No. : No Date

(for issue of tender

Paper)

8. Documents issued to : Quotation Notice (02 pages with BOQ)

Tenderers

SIGNATURE OF ISSUING OFFICER

B.O.Q for the work of "PVC Venyle flooring in Statistics Section of Coordination Department and repairing of aluminium glazed door shutter at Koyla Bhawan".

Sl	Particular	Quantity	Rate	Amount
1	Dismantling of old / damaged PVC flooring	21.50	15.00	322.50
	including scraping & cleaning the surface as per	Sqm		
	specification			
2	Providing fixing PVC vinyle flooring complete as	43.00 sqm	686.78	29531.54
	per specification.			
3	Providing & fixing double action hydrolic floor	02 nos.	1733.50	3467.00
	spring with stanless steel cover plate as per			
	specification			
4	Providing & fixing glazing in aluminium door	2.11 sqm	673.55	1421.19
	with PVC / neoprene gasket etc with floored glass			
	panes of 5.5 mm thickness as per specification			
5	Providing & fixing 120 mm size aluminium	02 nos.	48.80	97.60
	handle as per specification			
6	Providing & fixing foot mat dmo soft mat as per	74.96 sft	181.39	13596.99
	specification			
7	Repair of aluminium door shutter as per	01 no	1500/-	1500.00
	specification			
			TOTAL	49936.82

Synopsis:

I	/	We	gone	through	the	bill	of	quantity.	I	/	We	quote		%
(_) above	/ b	elo	w the	estimate	ed cost a	mounting
to	R	s										(Rupees		
).

Signature of Contractor

Name of Contractor

Seal & Date

B.O.Q for the work of "wooden file cabinet of RTI cell, Central Block, Koyla Bhawan".

Sl	Particular	Quantity	Rate	Amount
1	Providing & fixing 6 mm thick pre-laminated	62.50 sft	134.77	8423.12
	BWP ply wood board with 1 side laminated as per specification			
2	Providing & fixing 19 mm thick pre-laminated BWP ply wood board with 1 side laminated as per specification	21.50 sft	208.20	4476.30
3	Providing & fixing 19 mm thick pre-laminated BWP ply wood board with both side laminated as per specification	126 sft	222.65	28053.90
4	Providing & fixing 50 mm size cupboard lock as per specification	08 nos.	84.10	672.80
5	Providing & fixing 75 mm size Brass Handle as per as per specification	08 nos.	68.55	548.40
6	Providing & fixing magnetic for door catching in cupboard shutter as per specification	08 nos.	18.70	149.60
			TOTAL	42324.12

Synopsis:

Ι	/	We	gone	through	the	bill	of	quantity.	I	/	We	quote	%
(_) above	/ b	elo	w the	estimate	ed cost amounting
to	R	s										(Rupees	
).

Signature of Contractor

Name of Contractor

Seal & Date

B.O.Q for the work of "Repairing of damaged CI rain water pipe by providing PVC rain water pipe, wire gazed window shutter & cleaning of malba of canteen at Koyla Bhawan".

Sl	Particular	Quantity	Rate	Amount
1	Providing & fixing 30 mm thick wire gaze	1.30 sqm	1013.85	1318.00
	shutters using galvanized MS wire gaze of average			
	width of 1.4 mm with wire of dia 0.63 mm for			
	doors, window & etc. complete. (kill seasoned &			
	chemically treated hollocked) as per specification			
2	Taking of / dismantling rain water CI pipe	3.5 meter	11.80	41.30
	including fittings in complete 100 mm dia as per			
	specification			
3	Providing & fixing on wall face unplashicesed	12.65	163.40	2067.01
	rigid PVC rain water pipe 110 mm dia as per	meter		
	specification			
4	Providing & fixing on wall face PVC bend 110	02 nos.	134.20	268.40
	mm dia as per specification			
5	Panting with synthetic paint of approved brand	1.30 sqm	35.35	45.95
	two or more coat on new work as per specification			
6	Excavation in dump stores of malba including	41.41 m ³	109.95	4553.02
	stacking etc. lead up to 50 meter & lift up to 1.5			
	meter complete as per specification			
			TOTAL	8293.68

Synopsis:

I	/	We	gone	through	the	bill	of	quantity.	I	/	We	quote		%
(_) above	/ b	elo	w the	estimate	ed cost amoun	ıting
to	R	s										(Rupees		
)

Signature of Contractor

Name of Contractor

Seal & Date